
Geometry 6
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24

3
=
8

1
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1x + 3x + 5x = 180
9x = 180
x = 20
Angles are 20, 60, 100
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𝑥 − 2

𝑥
=
3

8
8 𝑥 − 2 = 3𝑥
8𝑥 − 16 = 3𝑥

5𝑥 = 16

𝑥 =
16
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𝑥 = 18 ⋅ 54

𝑥 = 972
𝑥 = 31.18
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𝑀𝑁

𝑅𝑆
=
𝑁𝑃

𝑆𝑇
8

10
=
4

𝑥
8𝑥 = 4 ⋅ 10
8𝑥 = 40
𝑥 = 5

𝐷𝐸

𝐴𝐶
=
𝐵𝐸

𝐵𝐶
12

𝐴𝐶
=

18

18 + 6
12 ⋅ 24 = 18 ⋅ 𝐴𝐶
288 = 18 ⋅ 𝐴𝐶

16 = 𝐴𝐶

10



4 𝑖𝑛𝑐ℎ𝑒𝑠

96 𝑚𝑖𝑙𝑒𝑠
=

1 𝑖𝑛𝑐ℎ

24 𝑚𝑖𝑙𝑒𝑠
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Have the overhead ready



14

Draw polygon on projector.  Have student measure angles on the projector and the 
screen.  Have another student measure the sides on the projector and on the screen.

Check to see if corresponding angles are congruent.
Check to see if corresponding sides are proportional.
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Scale factor:
6

12
=

1

2

x: 
1

2
=

4

𝑥
 x = 8
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Scale factor: 
15

10
=

3

2

x: 
3

2
=

18

𝑥
 3𝑥 = 36 𝑥 = 12

Perimeter: 
3

2
=

15+9+12+15+18

𝑃


3

2
=

69

𝑃
 3𝑃 = 138 P = 46
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48

40
=
𝐾𝑀

35
40 ⋅ 𝐾𝑀 = 48 ⋅ 35
40 ⋅ 𝐾𝑀 = 1680

𝐾𝑀 = 42
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ΔFGH ~ ΔQRS by AA Similarity

mCDF = 58 by Triangle Sum Theorem
ΔCDF ~ ΔDEF by AA Similarity
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Tree Shadow

Stick Shadow
=
Tree Height

Stick Height
150

3
=
𝑥

1
𝑥 = 50 𝑚
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SSS Similarity - That’s what happens when you enlarge a drawing.
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Try ΔLMN and ΔRST: 
20

24
=

24

30
=

26

33
This is not true.

Try ΔLMN and ΔXYZ: 
20

30
=

24

36
=

26

39
This is true. ΔLMN ~ ΔYZX

Try ΔXYZ and ΔRST: 
30

24
=

36

30
=

39

33
This is not true.

12

24
=

𝑥

30
=

𝑦

33
12

24
=

𝑥

30
 24x = 360  x = 15

12

24
=

𝑦

33
 24y = 396  x = 16.5
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ANS:  TR = 10 – 2 = 8, US = 12 – 6 = 6
TR/QT = RU/US  8/2 = 6/6  4 = 1  False, not parallel
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𝑇𝑈

340
=
160

320
320𝑇𝑈 = 54400

𝑇𝑈 = 170
𝑇𝑉 = 𝑇𝑈 + 𝑈𝑉 = 170 + 340 = 510 𝑚
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10 / x = 12 / (18 – x)  10 (18 – x) = 12x  180 – 10x = 12x  180 = 22x  x = 
180/22 = 8.18
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(x, y)  (4x, 4y)
L(-8, -4), M(-4, 0), N(0, -4)
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(x, y)  (kx, ky)

If x and y are 0, then kx and ky are 0.
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